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Candidates are ve a;a'hziwd lu nw heir ansy am s their o Wi wazmg as ;‘Zg;’
. as practicable. :
The figures in the margﬁr mdm’m 45;”‘?}%3}*‘;%& i

ﬁr@u@ﬁ “A'

Brief Answer Ques m:a _ . [10x2=20]" -
ﬁﬁ‘%@mwﬁ AL Eu qd@:ﬁ ions ' '

W'ﬁ”mi d{ryam mmﬁ by indirect pma;ﬁfss of fun ’ﬁ i%%f @,ﬁ

a*e: the c%msmmﬁm of iﬁff-g}@ sitory ﬁs.%f@@i;iﬁii ma‘é;-,

-‘ Eﬂ@m@. :

P = i

What role does the. vk management industry play in the

@wn@my‘?

Write the meapﬁg of aﬁmﬁa’zﬁ; financial %Mmc%.

: Dem‘;e primary | maﬁgﬂ in i‘wpali with @x:ampw
: ‘szﬁc about NEPSE fioat nﬁﬂg

. ABC fund has assets worth Rs. 2, 3@@ GG(} a:mi accounts payabl@ '
~Rs. 106,000. T%fmre are ?@@;,{3{}@ shares @ﬂmaﬂumg. What is the

net asaﬁ vmum’?

A 'E‘m&umy biil with Egé’? days to m&ﬁmﬁy a face value @f R:e
10, 000 is selling for Rs. 9, 8{}3{‘; on bank dmm@mt baszs What is

anﬁuaiized jx@iﬁ of T» :E,E on the mmg ézscmmf basis?

Camﬂate retwrn on ass@e&“s ﬁ‘ -pmi:‘at argin ra?,m is. 10 pm*ca,m and
assets utﬂmatmn :taiw is 1.8 times. .

(/Bank X has gap ratio of 20% and that of Bank Yis 25%. Wlnch'

bank is more sensmvrcy 10s) the mterest rate change‘?

U)




Dc:mﬂ méw ;—%mw& &,}eaéfzc [5x10=50]
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plain ﬁﬁeﬁ aior components of finascial ‘Ea%‘iﬁﬁ egf’" Nma

Ao

a

¢ major types of insurance %gw ces ’wa*ﬁa« sle i n Nﬂg‘zﬂ to manage

i‘w m@wv* fim loan Em‘: account
t ,ﬁ}gm minimum
8. 25 }dhcm of
sans off.

; i«:sa%;%{ ‘Emz-: éif 3@5} wsh' i

rve ér“Rﬁ 23& million, Now assume rmt Hs
le and bank management charges 1@1@3

oavs are u
a.- How much mapagement .;?ita@uﬁa nereas

g e the amme& exmﬁ ¢S xtem .10
replenis

§ 9 rs: serve? )

izt bank *zaﬁmg@mmﬁ; chares off R% 3 5 muilion ami TeCovers
on. What will

1 be the amount of net aﬁ;ﬁrg@wnﬁ‘?

will be the prmsmp for loan losses for the current year if bank
: '.: ﬁ“he mmm»sm« ieqwa%e reserve for loan losses assuming that
d reco Je,q, amount wi ill be as in (b)?

: 3+3+4}
*4 “Cousider the following stock price and shares *’zammdmg »mﬁt;amatmn..
Bai&we: Sheet of mg’ as o *‘%wm‘mw 31,2019 v
i  Asar31, 2078 -Asar 31, 2079

| Stock Price - Shares Price Shares
e : oumem dling | « . cutstanding
X Rs200 | 1,000 | Rs.320 | 1,000

Y 800 2,000 750 2,000

Z 400 2,500 420 2,500

Aﬂ%sw}@ bassf value of market ¢

- base index is i{}G

hza‘m:m is Rs. 1,4{)0,0(}(}_ and

A Cﬁmpat@ the value vw&gmied muex i;&i@ NE PSE index f{»r Asar
" 31,2078 and Asar 31, 2079.

‘ b Compute the percemage ehange in the value of mdex in Asar
31 2079 as compared to Asar 31, 2078. [7+2]

15. N, : Era Company is proposmg a rights offering- rescnﬂy there are
: . ach. The company is

PTO




planmng to sell new 60 000 shares throu:gh nghi:s a’fcmng at a
subscnption pnce of Rs 100 each per share. |

a How many nghts are a:>5001ated with one of the new shares ;
b. ‘What is the ex—nghts price? '
- c What is the value of a nght”

d; Why mlght a company have a nghts oﬂ:"ermg rather than a
general cash offer? =~ . ; VIEE TS 4% 2.5]

'16 “Write short notes on (Any TWO)
 a. Initial public offering
~ b. Stock dealer
c. Credit mformatxon bureau of Nepal

Groug 4

Analytical Answer Questions ‘ - [2x1 5=30]
Attempt any TWO questions. ;

- 17. Explain the need for regulation of depository ﬁmanc;& institution by -'
NRB. Describe thf’ onsite add offsite qum*vmon and supervisory

17+8]

arw 1, 2023. Inﬁafmn was abew 4 percem throughout
. The governthent tock act tion to maintain inflation at this lev el.

Holwever, the eggnomy is in a recovery, and reports mdxca&@ that

inflation is expected to increase during the next 4 years. Assume that

5 percent will be the expected inflation rate for. 2023, 6 gyercent for

2024, 6.5 percent for 2025, and thereafter mﬁa’c\@n rate will stable at
-7 percent.

a. What is the average expected mﬂatiox} rate over the next 4 ywm
~ period 2023-20267 0 e i
' b. What average nominal interest rate, over the 4 years period 2023-
2026, would be expected to produce 2.5 percent real nsk—free rate

of return on 4-year Treasury securities?
~¢. Assume a real -risk-free rate of 2.5 percent and a m&mmy risk
pxemmm which starts at 0.04 percent on 1-year seﬁcunty ‘and

<L




'~ increases by 0.04 percent each year. Estimate the interest rate in

- January 2023 on the Treasury secunaes that mature in 1,2,5, 10

and 20 years?

. Assume ‘that default nsk premlum associated w1th a S-year -
“corporate security is 1.9 percent.. tht is the yleld on 5-year

corporate secuntles‘7

. Describe the general economic condxfzzon that could be expected

to.pr{;duce an upward sloping vield curve.: - [3+2+5+2+3] &

. Nepal Rastra Bank has published summary of BOP for the first eight

~months for the fiscal year 2021/022. Summary of current account for
the first eight months of the fiscal year 2021/022 i is as follows:

: Summary of Current Account (Rs. in Million)

Particulars Credit . Debit
Goods a.nd services 220,124.0 | . 1,404,675.7
| Goods: 152,114.7 | 1,269,649.4
Services 68,009.4 135,026.3
Primary income 328359 155484
Secondary income © 7092385 4,904.9

@n the basis of data given above answer to the following questmm

a. Whm is the net of goods and services account durmg the given '
pan@@: of three fiscal yeagsﬁ :

b. W}‘:iat is the net of primary income account and secondary income
account during the given period of the fiscal year? -

¢. Which accounts have csﬂtrihuted to increase the current account
deficit?

d. Which accounts have contributed to decrease the current account
deficit? ‘

<8, What is the trade deﬁmt/surplus durmg the ﬁrst elght months of
: gwen fiscal year?
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